Laampron
Power & force

MﬂﬂiOCTpMpOBaHHbIVI KaTanor 3anacHbIX YacTen

Mopenb: GG7501E3

Ne ApTuKyn HaumeHoBaHue K-so | Ne ApTuKyn HaumeHoBaHue K-so
1 306340220100 | KpblwKa Bo3ayx03abopHMKa 1 10 304034028401 | bonT KpenneHus potopa 1
2 304018019000 | KpblibyaTka poTtopa 1 11 304024019017 | Kpblwka anbTepHaTopa 1
3 204422313002 Potop 1 12 304053000000 CoefnHUTENbHAA KONOAKA 1
4 304067020402 | MNoAwMMNHMK poTopa 1 13 306360240700 KpoHLWTEeWH KpenneHus rywurens 1
5 204352314002 | Cratop 1 14 306460240600 Inywwrtens 1
6 304030155000 | 3awmTa cTaTtopa 1 15 304038019500 | BonT KpenaeHUs KPbILWKK 4
7 304023019000 | Kpblwka reHepaTopa ctopoHa AVR 1 16 301221000100 | MpoknaaKa Konnektopa 2
8 304026305012 | Bnok AVR 1 17 306340240200 | BbinycKHOW KONNEKTOP 1
9 304020019000 | KonnekTopHble WeTKu 1 18 306340210101 | KpoHwTeiH KpenneHus Kopnyca ¢unbtpa 1

[nyLwmTens HoBOro obpasua

Ne | Aptukyn HaumeHoBaHue z
16 | 3055000000189 | KpoHwTeitH 1
17 | 3048081000100 | Mpoknagka rywuTens 1
18 | 3055000000186 | MmywmTens 1
B6 | 3037004001015 | laitka M8 2
B7 | 3037005003007 | LUawba D8 2
B8 | 3037001007104 | bont M8x40 2
B9 | 3037001007161 | bont M6x16 2
Bg B10 | 3037005004016 | LLaiba rpoeepHas M3 2
B 8 B11 | 3037004001015 | laiika M8 2




Laampron
Power & force

MﬂﬂiOCTpMpOBaHHbIVI KaTanor 3anacHbIX YacTen

Mopenb: GG7501E3

Ne ApPTUKYA HanmeHoBaHue K-Bo Ne ApTUKYA HavmeHoBaHue K-Bo
1 307030230200 Kpblwka TonameHoro 6aka 1 19 306000300600 AKBb 1
2 306020070300 DdunbTp TONAMBHOIO HaKa 3 20 304042016006 3asemnaoWwmii Nposos, 1
3 306360230152 Bak Ton/aMBHbIN 1 21 306140310200 Ckoba kpenneHua AKb 1
4 307030230300 YKa3aTenb ypoBHA TONAUBA 1 22 306590250705 Onopa AKB 1
5 306350120104 Haknaaka pambl 1 23 211065900100 Mpoknagka 1
6 306020071100 TonAMBHbIN KpaH 1 24 306000112800 Ocb Koneca 2
7 301061100400 LLnaHr TonamBHbIN 1 25 306000200322 Koneco 2
8 306000109703 JleBas TPaHCNOPTUPOBOYHAA PYKOATKA 1 26 211066100200 Bubpowusonatop 4
9 306000105800 Pyuka pykoaTku 2 27 305495001505 Kopnyc naHenun 1
10 306000106209 KpOHLWTEWH KpenneHus pyKoaTKU 2 28 2050112340007 MNaHenb 1
11 | 306470117203 Pama 1 29 305022501601 Posetka 220B/16A 2
12 306000109603 MpaBan TpPaHCMOPTUPOBOYHAA PYKOATKA 1 305104151601 PoseTtka 380 B
13 306000112904 KpoHwTelH onopbl 2 30 305170530096 ABTOMAT BbIKAtOYeHMA 9,1A 1
14 311020003700 Onopa pambl 2 31 305160045452 BonbtmeTtp 1
15 285061504015 Mposog noakntovyeHna AKb 1 32 305140000107 CyeTymk moToyacos 1
KpacHbIi,350 mm
16 285061503000 Knemma nogkntoyeHmsa npososa 1 33 305260500101 3aMOK 3aXKuUraHuA ¢ KNrYammn 1
17 285061503001 Knemma nogkntoyeHma npososa 1
18 285061504014 Mposog nogkntoyeHna AKb 1

YepHbIin,290 mm




Laampron

Power & force MNNocTpMpoBaHHbIN KaTaior 3anacHbIX YacTei Mopenb: GG7501E3

Ne ApTuKyn HaumeHoBaHue K-so | Ne ApTuKyn HaumeHoBaHue K-Bo
1 301220920001 Pblyar rasa Komniekt 1 15 462355208200 CanbHUK KoneHsana 35x52x8 1
2 462355208200 CanbHUK KoneHBana 35x52x8 1 16 301180210000 KpbiwWwKa wyn ypoBHA macna 2
3 301250100200 Kaptep 1 17 448080014050 Wtnt 8x14 2
4 439120000101 Mpoknagka 6onTa 2 18 301220200400 MpoknagKa KpbIWKKY KapTepa 1
5 301180101001 bont M12x15 2 19 301220100200 Ocb perynatopa obopoTos 1
6 301250510001 Pacnpeggan 1 20 301180100400 LWaiba 2
7 301250311103 Konexsan 1 21 462081404200 CanbHuK 8x14x4 1
8 463620760000 MoawunnHmK KoneHsana 6207 1 22 301180100300 WnannHT 1
9 463620260000 MoawunHuK Bana 6anaHcmpa 6202 2 23 301220900400 Pbiuar ocv perynaTtopa 1
10 301221220000 CTapTep 3/1eKTpUYECcKmin 1 24 301220900301 Mpy»KnHa pblyara 1
11 301180100800 Tonkatensb perynaropa 1 25 301220900200 Mpy»nHa TATM pblyara 1
12 301180100600 Ban perynatopa 1 26 301220900100 TAra pblyara 1
13 301220110000 LleHTpobexHbili perynatop 1 27 301250330800 Ban 6anaHcupa 1
14 301220200101 KpbiwKa KapTepa 1




Laampron
Power & force

MﬂﬂiOCTpMpOBaHHbIVI KaTanor 3anacHbIX YacTen

Mopenb: GG7501E3

Ne ApTukyn HaumeHoBaHue K-s0 | No ApTuKyn HaumeHoBaHue K-Bo
1 301250400301 LWnaHr canyHa 1 17 301220500200 TonKkatens KnanaHa (wraHra) 2
2 301180410900 BonT KpensieHUA KpbILWKKU KNanaHoB 1 18 301180500100 Tapenka Tonkatena 2
3 301180430000 KpbiwKa KnanaHos 1 19 448120020050 Wrnot 2
4 301180400200 MpoKknagKa KpbIWKKW K1anaHoB 1 20 301250400100 MpoknagKa ronoBku LUANHAPA 1
5 301180500900 Konnayok KnanaHa nog KOpombICno 2 21 DFFO06 KnanaH BbinycKHONA 1
6 301180500800 Cyxapb KnanaHa 2 22 DFFO07 KnanaH BnyckHom 1
7 301180500600 Mpy*unHa KnanaHa 2 23 301180411400 LnunbKa KpenaeHua raywmTens 2
8 301220501100 Konnayek maciocbemHbii 1 24 301250410000 [onoBKka uMnmHapa 1
9 301180501000 Tapenka nog Npy»KMUHY KnanaHa 1 25 F7RTC CBeuya 3axuraHus 1
10 301180400400 bont M10x80 4 26 301180411400 LLinunbKa KpenneHusa kapbtopaTopa 2
11 301220400500 Oxnaxkaawwmin mct 1 27 301220700400 Mpoknagka noa Tenaonsonatop 1
12 301060520400 KoHTpralika 2 28 301240700301 Tennousonatop 1
13 301060520200 PerynvpoBoyHas raika 2 29 301240700200 Mpoknagka nog Kapbropatop 1
14 301180520100 Kopombicno knanaHa 2 30 301250730000 Kap6topaTop 1
15 301060520300 LLinnnbKa KpenneHus Kopombicna 2 31 301180700101 Mpoknagka nog Kopnyc ¢puabTpa 1
16 301180500301 Hanpasnsatowwan Tonkatenemn 1 32




Laampron

Power & force MNNocTpMpoBaHHbIN KaTaior 3anacHbIX YacTei Mopenb: GG7501E3

Ne ApPTUKYN HammeHoBaHKe K-so | Ne ApTUKYA HammeHoBaHKe K-Bo
1 301250320000 | LlaTtyH 1 4 301250300400 MopweHb 1

2 301220300600 | CrtonopHOe Ko/bLO 2 5 301250330000 Konbuo nopwHesoe KomnaeKt 90 mm 1

3 301220300500 | MNaneu nopwHa 1




Laampron

Power & force

MﬂﬂiOCTpMpOBaHHbIVI KaTanor 3anacHbIX YacTen

Mopenb: GG7501E3

Ne ApPTUKYN HammeHoBaHKe K-8o | Ne ApTUKYN HammeHoBaHKe K-Bo
1 301220623137 CrapTep B cbope 1 5 301221200100 KpbinbyaTka MaxoBuKa 1

2 301220611147 Koyx MaxoBuka 1 6 301181200401 MarHeTto 1

3 301181200300 lalika maxoBuKa 1 7 301221210200 MaxoBuK 1
4 301221200200 CTakaH MaxoBUKa 1 8 301061200800 KaTtywka 12B




Laampron

Power & force MNNocTpMpoBaHHbIN KaTaior 3anacHbIX YacTei Mopenb: GG7501E3
4 ™
/1
N 7
Ne ApPTUKYN HavmeHoBaHue K-8o | Ne ApTUKYA HammeHoBaHKe K-Bo
1 301250820001 Kopnyc ¢punbTpa Komnnekr 1 1 301250820100 DuUNbTP BO3AYLUHbIN 1






